
COMMON WORD CODING 

In common word Coding Questions of Reasoning, few Sentences is given with Coded 
language sentences. The word sequence / order may be change in coded sentence. A 
word without meaning is code of word with meaning. To solve codes like these 
remember the order of the numbers may be anything. 

Example:  

In a certain code language, “tee see pee” means ” Drink Fruit Juice”. “see kee jee” 
means ” Juice is Sweet”, “jee ree mee” means “He is Intelligent”. What is the code 
for ” Sweet” 

Options (a) tee (b) see (c) pee (d) kee 

Solution 

1. “tee see pee” means ” Drink Fruit Juice” 

2. “see kee jee” means ” Juice is Sweet” 

3. “jee ree mee” means “He is Intelligent” 

 In 1 and 2 Sentence “Juice” and “see” is Common, therefore “see” is code of “Juice” 

 From 2 and 3 rd sentence “Is” is coded as “jee”. 

 Now in 2nd sentence, we know the code of “Juice” and “Is”, therefore, code of 

“Sweet” is “kee” 

Answer is (d) 

 

 

 

 

 




